Wahoo Docks Captain’s Chair - Top Mount

Assembly and Mounting Instructions

WHAT'S IN THE BOX TOOL REQUIREMENTS

a. (1) Chair Frame (2) 9/16" Wrench

b. (2) Arm Rests (1) Power Drill

c. (8) Arm Rest Mounting Bolts 3/8" Drill Bit _
3/16" x 1" Bolt/Locknut/Washers (1) Phillips Head Screwdriver

d. (1) Cup Holder (1) Clamp - optional
e. (1) Fishing Rod Holder
f. (4) Rod Holder Attachment Screws
3/4” Wood Screws
g- (1) Pedestal Mount
h. (4) Mounting Bolts
3/8” x 3 1/2” Bolt/Locknut/Washers

Bottom Detail
with Swivel Post

d€) i

i |
.
fo —

e

CHAIR ASSEMBLY

Attach Arm Rests (b) to Chair Frame (a) using the Arm Rest Mounting Bolts (c). Each Arm Rest can be
attached on the left or right side depending on the desired location of the Cup Holder (d) or Fishing
Rod Holder (e). After the arm rests are secure, slide the Cup Holder and Fishing Rod Holder into
place, securing the Rod Holder with the Rod Holder Attachment Screws (f).

ATTACH MOUNTING BRACKET TO DOCK

Select a position on the dock where you'd like the Chair to be located. Position the Pedestal Mount
(9) on the surface and drill four (4) 3/8" holes through the existing holes of the base of the Mount into
surface. Preferably, the Mount will be secured through the dock surface into the frame of the dock

to provide for a solid base. Once drilled, secure with Mounting Bolts (h) by placing a Flat Washer
onto a Bolt, inserting the Bolt into one of the drilled holes and securing it on the back side with a Flat
Washer and a Locknut. Repeat for each hole so that the Pedestal Mount is secured with four (4) bolts.

s ATTACH CHAIR

: Slide the swivel post located on the underside of
the chair seat info the receiver at the top of the
Pedestal.

Now your chair is ready!

We hope you enjoy it!

wah




